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Sample Question:1

Answer: A
A 3.00 kg eagle is flying from right Sl ) Gnall 503,00 kg 4SS g iy
toleftat 12 m/s. 12 m/s % yu
The eagle collides with and sticks ) ¥ gy Ladaad pall y yeadll |
to a 1.2 kg drone moving straight down b H),.:i:,.u 1 ﬁjﬁ(:k;
with a speed of 7.5 m/s.

75 m/s Ao pas Sl

e e AT LT R s M AR e i Aot
L e et il | LRt L] BT ERE s e T

5 jikall J""“ O .Jﬂf;hm- La

P‘.‘l.hnd'm e b )HLII h.n

= &
L L =MIL:L e .IxJ.5 = 90 Ky (s 32
—_
Roam, & = 3012 34.0 K -
eeme By = 3120 = 360 Guy

\&, \--\QL\ =37 G s
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~
37 kg.m/s

27 kg.m/s

23 kg.m/e

45 kg.m/s

Sample Question: 2 \@
Answer: 22.5 (answer ok need text editing english arabic)
A 0.35 kg glass marbie is attached to a rope Jiaadla g e 0.35 kg WiliS Lala )8 S

and swings in a vertical circle of radius 1 22m c) 2 Al el 8 il JS3 o il e s

Thaspaado!mamarhleasnpassasrts 95m/s el ) | aie 3 S)) 4o
highest point is 9.5 m/s. sisgind ol e

f a0 8 SN S Latio Jaall b ot jlaia 2l
What is the tension in the rope at ‘-"'d! A Jua Jualt JL‘J :szi
point in the marble’s motion. ™

Round your answer to the th. 3yte e ja il Slida) o 8

ta&iniha rope (M) = () =(N) Jsadt & 2l
=T
V=% -%

T
Tty <™
2

\ - 035k 95 _ 035« 28 =22.5 N
.22
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Sample Question: 3
Answer: B (correct )

A car is moving away from a motion M Op Binlisa Al e oy ol AT A e
detector with a constant speed. AS jall jlaliuy
Which graph best represents the motion JE A8 Halt A8 ya Jiag oliah 2 gas jll e ey 5
of the car?
OA.
|
|
jl ¥
B
| &
| time el
oc.
§ :
: |
time a3l time a3l l
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Sample Question: 4

Answer: A
A'S kg mass is lifted from the ground to S e Y e 5 kg A4S s b al
a height of 10m. 10m ¢\ )
..u avadl aua gl ARds 212 3
The gravitational potential energy of 18 perl g ,:_‘
the mass is increased approximately i

by :

O |. ~ . TR . _ |
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Sample Question: 5
Answer: 0.61

Pull Force
. ij
110N

-

The figure shows a wooden box that Is J.mm..; '.\...-a.. .‘_‘.‘.l:.’i\_ﬁ_.llc,_..ﬂ
being pulled along a horizontal plane. !! ! K
’- La ﬂﬁ'

According to the figure, what Is the 'i" £ | b e el
horizontal acceleration of the box to the fb ¢ all aladls 3 plicall

left?

b alall € pall AiaY) L
Provided that the coefficient of kinetic
friction wood on wood is 0.2

Round your answer to the nearest
hundredth

OO Adla e e ) Sl _'.:,1

&
Horizontal acceleration (m/s?) = (ﬁ: (m/s?) MY § sl

T d“\\ Wy Y. o W0MM35 = m g
\L'LOSA'\'S[ -/Lfs. n .@m Q\x “—10(1} _IIDQ;AKB
Wolns _0.2435 = 10 Q

m([s*®
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Sample Question:6
Answer: D

The diagram below shows a current o b gSh Ll G sl s 1 gy
flowing through a wire. gt Sl

() «—CURRENT FLOW)

Which of the following represents the grubliaad) Jaalt do gl Siag ) Laa
magnetic field resulting from the current? Tl 4 Ll g pe e m

-

OA.
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Sample Question:6
Answer: C

What energy conversion is taking place in the Talal JEh d adall el b
figure below?

nuclear to ch n@
electrical \

electrical to thermal and Ay sl Al sl e
mechanical -

chemical to thermal and 4 ,)—'u"" i AgiliaSll ye
electromagnetic -\.;....;i—..m.. 968l y

mechanical to electrical and Al S N ASHS e
chemical ailiaSh g

Page 70f 19
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Sample Question:7
Answer: D

How much energy is dissipated by the
5 (2 resistorin 120 57

EmSAT fulal Sl Lial

JAd 52 Ae gl b sand) dithall e L

120 5 2 ylona

20V

50 60

OA. | o " w @\\fb N
OB, O——
| .

2018-2017 e it Jall
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Sample Question: 8
Answer: C
Which of the following figures represents A 2 5 Jiay 4000 40U 2 g 1 06 g

the effect of temperature on resistance T sial¥l e do giiae da fde o 3 ) 2l
made from aluminum?

OA

Temporatuie®C
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Sample Question: 9

Answer: 32.4

Various elongations are produced when a ‘-l“‘"“ o i) e 4 a0 6l a4y

different objects are attached to a spring. Sy Sle )i Lavie 450 CUall JaaY
Adlina eV e Ul Loaa dilid

The graph below represents the ‘*r} *(

relationship between the object mass and ATl e A o At s praca g

the elongation of the spring. A ALY e g o i I B

Mass vs. Elongation
AUiuay) i 21

10 Q}@

3
8 f@.ﬂ RN [ —
0\
e

& ]

|

~h

-
ey
1
|

Mass (kg) 4

0.8

Elongation (m) 4lUaiuy!

1.2

What is the energy stored in the spring 0555 Ladie o i A AialSh ASUall ke L
when the elongationis 1.15 m? ?1.15 m 4aluaiul

Round your answer to the nearest tenth. Bode e e e 8y Slida) o)

Stored energy (/)= [ ] = (v) &l Al

pu EU. . Nrea odween \N -d) BOUEW and d axs = L+ ahx\n __5{,\\.\5,&%-'?‘“?'” |
PE. =32.u 3
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Sample Question:10

Answer: C
If the distance from point 4 to point B in the B adalill 5 A ddalill il 20K 1Y
diagram is 270 cm. What is the wave length of o>l Jghll g4 L 270 e s
this wave? foliah JSIi 4 4 yall
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Sample Question:11

Answer: A
A metal bar magnet has a magnetic field in dgay , petdaling Jlas pa da g adalieg
the region around it. The magnetic field | UL N [ .
i b ‘ 2 dj‘r.;l.d_n..l,__,upni A 2 g gy

the motion of charged particles in , N T, "
‘ the metal s sl gh &) e i o ‘

58 T __&_

‘ an electric current that runs along

the length of the magnet HHEREGPG s 1 S S ‘

Oc. . —OQ_ L
' radio active particles in the metal Conall ) Aia Casss |

e _— ——————— i i S e Sy I

*

Oo. ' ahidden voltage source in Q\ B
- metal 'va = ;
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Sample Question:12

Answer: C
A ping pong ball undergoing a simple
harmonic motion over a hard floor takes 0.19 s

to travel from the ground 1o its
highest point. The distance between these
points is 87 cm.

Calculate the frequency of this harmonic
motion.

Round your answer to the nearst tenth.

EmSAT fuial sliel] Lisl

A A 38 o o Al i 5
E‘Lh.'i,&.\lm_).hjdhlq.hjlw-\h

o Al il e Sl 0,195 880
87 crm ¢ ) o\ Ak el

P u gl 5 S AS o 3 i le

§Bp oo A o) b

\0

R [If . @?mgm

OD. [~
L

L
i 038
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Sample Question:13
Answer: A

When the amplitude of a sound wave is higher
the .

Em SAT#I'&:"..':" *rm

UM RS o A gad Al 2l 5 Ladie

—_—

O vt

i 81 55 & guall j
\(b@d

O ( sound will be softer

-

O [ sound waves will befaster

o sound waves will slower @b

o
,g@

.. O

\ hﬁﬁ'aﬁauﬂij

g;‘ Ny u'-l,..ﬂ“E‘P‘ j
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Sample Question: 14

Answer: C

A ray of light shown below is incident upon @ e j siie Jlo Sl 5 e § o sbial S0 < gy
glass equilateral prism (n = 1.5) (n=15) S )&Aay

1'&35‘{5:“5 LEV
6 =43"

Determine the angle of the exiting light 6 . «

90

A.
O 47 2¢

OB. |-

&

oD.
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Sample Question:15
Answer: A

The transition from solid state into a e g Rall Alalt b dtoall Alall tw ) ead
i U o, I alal [ |
gaseous state without passing through AT

T :
liquid state is known as g Al el g el

sublimation

evaporation
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Sample Question: 16

Answer; C
In a hydrogen atom_ the expected color Wil gl ¢ gl ol g
- TR }hd ‘M‘ - LI, J‘__ (-]
emitted due to the transition labeled by 3 D apadly mazs gl ﬁ ;":rf H"JZY!P -..r’
arrow D is fre. o § RS e Aauls

I
.-

¢ \(b

|. blue

| green ,*

S ; Page 17 of 19
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Sample Question: 17

Answer: 2.34

A laser pointer produces green light with syl alga paslppa )l e a

a wavelength of 532 nm. 532 nm
leall ¢ geall (oY) Ju aab gl g gl A L

What is the energy of a single photon In pad (eV) ¥ :ﬂ r

eV produced by the pointer? fgadl -

Round your answer to the nearest s o s [ sidal o 4

hundredth. Ale o o g A D dlial o 8

Energy of a single photon in eV = (2.33 ] =(e V)4 2 @_fs il 48
Sample Question; 18 \
Answer: B

Electrons revolve around the nucleus in | 0 ol 2 glaa A8l Jga i g ySTYL ) g
orbits that have _ energy level(s). \. _ Aida i g

@i finite | (DQ* - a.m.._

o ‘_T@ S
| vanable @

5 pkia |
]' same fglaia |
34 B -9
MU L GO 3O 3 7/ T
B "'_r\:-. B -5_??_.-..,,3*'?
19
) 3«7‘“";’ - 2-33 eV
I-4x10
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Sample Question: 19

Answer: B
Electrons in an x-ray imaging medical Ldall y geatll Cilina A Sl g S © D
equipment are accelerated from resl 65 kV 8 ke ga 5 M Luias iy 259
through a potential difference of 65 kV

? gl 4 iy 58IV e JS Ae o gia e

What is the average speed of each of v
these electrons?

151x10%m/s

478%10%m/s

_|q
2Xx1-04x (D
o e

9.1« {5"”
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